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LABOUR WELFARE AND INDUSTRIAL RELATIONS
PAPER - 11

Note : This paper contains seventy five (75) objective type questions of two (2) marks each.

All questions are compulsory.

Which of the following types of
control involves evaluation of inputs
and taking corrective actions before
the operation is completed ?

(A) Feed Forward Control
(B) Concurrent Control
(C) Feedback Control

(D) Forward Control

Which of the following is the process
of systematically identifying,
assessing and developing
organizational leadership to enhance
performance ?

(A) Manpower Planning
(B) Career Planning
(C) Succession Planning

(D) Strategic Human Resource
Planning

Which of the following is not a
principle under the “Hot Stove Rule”
of Douglas Mc Gregor ?

(A) Advance Warning

(B) Impersonality and Impartiality
(C) Consistency

(D) Opportunity to defend

“Quality Circles in India”, the first
book incorporating the process to be
adopted in developing, implementing
and sustaining quality circles, was
authored by

(A) T.V.Rao

(B) D.M. Pestonzee
(C) Udai Pareek
(D) S.R.Udpa
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The theory that categorized needs
being concerned with survival,
relationships and desire for personal
development is popularly known as

(A) Need Hierarchy Theory
(B) Two Factor Theory

(C) ERG Theory

(D) Contingency Theory

Which of the following is/are part(s)
of transformation process, is/are
considered as a part of organizational
development ?

a.  Implementing Strategic
Planning and Alignment

b.  Assessing the competitors
strengths and weaknesses

c.  Assessing the environment and
changing organisational
structure, systems and culture

d.  Developing the work climate to
enhance teamwork, trust and
cooperation

(A) abandc
(B) a,b,candd
(C) acandd
(D) a,bandd

The International Institute of Labour
Studies was established in the year :

(A) 1919 (B) 1960
(C) 1926 (D) 1978

Which of the following is an illegal
industrial action as per law ?

(A) Mutual Insurance

(B) Collective Bargaining
(C) Lock out

(D) Gherao
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10.

11.

12.

13.

14.

Compulsory collective bargaining was

advocated by :

(A) G.L.Nanda

(B) Khandubhai Desai

(C) V.V.Giri

(D) Jagjivan Ram

The Journal Dinabandhu was being

published by :

(A) Ahmedabad
Association

(B) Bombay Mill Hands Association

(C) All India Trade Union Congress

(D) Madras Labour Union

Which of the following is the

appropriate Government in relation to

employment of workmen by a

contractor for construction of Railway

Staff Quarters in a State headquarters

and fixation of minimum wages ?

(A) The Central Government

(B) The concerned State Government

(C) Both (A) and (B)

(D) Either (A) or (B), but depends
on the situation and appeal by
the contractor

Under the Industrial Disputes Act,

which of the following cannot be

considered as an industrial despute ?

(A) When employer fails to keep his
verbal promises

(B) When closure is a pretence

(C) When demand made for
alteration of conditions of
service of employees in a
cooperative society

(D) When the lock-out is in disguise
of closure

Who had advanced the concepts of

“Long Arm of Job” and *“Social

Invasion of Workplace” explaining the

intricate relationship between intra-

mural and extra-mural welfare ?

(A) Emile Durkheim

(B) Herbert Spenser

(C) Amitai Etzioni

(D) Charles Spaulding

Which of the following is/are

determinant(s) of supply of labour ?

a.  other wage rate

b.  non-wage income

c.  preferences for work versus leisure

d.  number of qualified suppliers

(A) aandb (B) abandd

(C) ab,candd (D) b,candd

Textile  Labour
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15.

16.

17.

18.

19.

20.

21.

Under which of the following incentive
plans *“a worker is quaranteed a
minimum wage on the time basis. Then
a standard time is fixed for the
completion of every work and if the
worker completes the work in less time,
he is given bonus of the time actually
saved in proportion to the total time” ?
(A) Halsey Premium System

(B) Rowan Premium System

(C) Barth System

(D) Emerson Efficiency System

AFL-CIO in United States of Americaisa:
(A) Craft Union

(B) Industrial Union

(C) General Union

(D) National Union

Which of the following factor(s) is/are

responsible for weakening the trade

unions in India ?

a.  absence of rank and file leadership

b.  absence of one union in one
industry

C. politicization of unions

d.  proactive management

(A) abandc (B) ab,candd

(C©) aandb (D) aonly

During the National Emergency Period,

how many schemes of workers’

participation in  management were

introduced by the Government of India ?

(A) One (B) Two

(C) Three (D) Four

An association of crane operators in an

industrial establishment is an example of :

(A) General Union

(B) Craft Union

(C) Industrial Union

(D) Industrial Federation

The factor, which does not include the

substance of sound industrial relations

policy at the macro-level is

(A) Business proposition,
development

(B) Structure of economy and labour
market

(C) Structure of union and employers’
organisations

(D) Policies of the Government

project

Which is not an association of

employers ?

(A) CIE (B) AIOE

(C) CITuU (D) IOE
D-55-13
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13.

14.
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% 3T 3 TR FHAT Al § e
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(A) TEATEE  (B) W W
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frfefad & @ i a1/ @ 98 3gfd &
/% s &/ €0

a. USRI W

b.  IR-ESR A

C. I M 3TRTY i WATHSHAT

d.  SEauT STyfdereT S g
(A) a3b

(B) a, b3iRd

(C) a b, c3d

(D) b, c3Rd
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15.

16.

17.

18.

19.

20.

21.
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(A) a, b 3 ¢
(C) as3b

oo

o

(B) a, b, c 3R d
(D) Foe a

T SITTRIAN T & SR, TR H
THR FRT et Wit | e o et
T AIIERT S TRET fofar a7 2

(A) T (B)
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frfofiad o 9 S o1 e & 99 T & 2
(A) CIE (B) AIOE
(C) CITU (D) IOE
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22. Which of

the following ‘Codes’

incorporates all the given statements ?

(i)

(ii)
(iii)
(iv)

A
B
C
D

23. Match the followin

Every employee in an industry or
unit shall have the freedom and
right to join the union of his/her

choice
There shall be no
membership of unions
Uninhibited acceptance and
respect for democratic functioning
Regular and democratic elections
of executive bodies

Inter-union code of conduct
Code of Discipline

Code of Practice )
Industrial Truce Resolution

measures suggested

dual

with the committees/ Commissions/ Acts.

Committees/ Measured
Commission/Act Suggested
a. The Trade I. Improvement of
Unions Act productions, unions
to discourage
absenteeism, and
__interruption of work
b. Royal ii. Growth of collective
Commission bargaining recogni-
on Labour tion of union, prohi-
bition of strikes &
_ _lockouts
c. Industrial iii. Registration of
PO|IC?/ _ Trade Unions
Resolution ) ]
d. First National iv. Appointment of
Commission Labour Officer
on Labour
Codes :
a b ¢ d
A 1 v i
B) m v 1 11
C) i 1 1 v
D) iv i1 i I

24. Due to pursuit of Laissez-Faire policy
in_economic affairs in the past and

faith | _
industrial relations, the

in promoting autonomy in

overnment in

United Kingdom has followed a policy
of non-intervention in the sphere of
industry. In this context, find out which

of the following is not correct ?
(A)

(B)
(©)
(D)

Paper-111

The principle of collective
bargaining be practised )

The principle of developin
procedures  for free an
expeditious settlement

The principle of protecting and
saving workers from unfair
labour practices o

The principle of association of
workers in independent trade
unions  and employers’
association for development of
industrial democracy

25.

26.

27.

28.

29.

30.

Which of the following is the main
function of Labour Relations Act of
United Kingdom ?

(A) Regulating working conditons
(B) Licencing the industries

(C) Registration of unions

(D) Recognition of unions

Which of the following statements

relating to the Factories Act is not true ?

(A) There is a provision in the Act
relating to the constitution of a
Managing Committee for the
management of the canteen.

(B) There is a provision in the Act
regarding the setting up of a
safety committee.

(C) The Act does not have a
provision relating to the setting
up of welfare committee.

(D) The Act has a provision
relating to the establishment of
a Grievance Committee.

What is the role of the Arbitration
Board in United Kingdom ?

(A) Agreement

(B) Settlement

(C) Award

(D) Collective Agreements Non-legal

Which of the following are tripartite
bodies ?

a. Indian Labour Conference

b. Wage Board

c.  Standing Labour Committee

d.  Works Committee

(A) aandb (B) bandc

(C) abandc (D) a,b,candd

During whose tenure as a union
labour minister, the code of
Discipline was adopted ?

(A) V.V.Giri

(B) G.L.Nanda

(C) Khandubhai Desai

(D) P.A. Sangma

Which four of the Central Trade

Union Organizations were signatories

to the inter-union code of conduct ?

(A) INTUC, AITUC, BMS and
UTuC

(B) AITUC, BMS, CITU and HMS

(C) AITUC, HMS, INTUC and
UTuC

(D) BMS, CITU, HMS and INTUC

D-55-13
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(C) JHa= T st
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(A) AITUC, CITU, HMS 3R
INTUC
(B) AITUC, BMS, CITU 3R HMS
(C) AITUC, HMS, INTUC 3R
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(D) BMS, CITU, HMS 3T INTUC
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31.

32.

33.

34.

Which of the following organizations

received a bad publicity in the print

and electronic media in 2005 for

adopting unfair labour practices and

causing police brutality on its

workers ?

(A) Maruti Udyog Limited

(B) Tata Motors

(C) Honda Motorcycles and
Scooters India Limited

(D) Durgapur Steel Plant

The shifts that have been taking place

in the collective bargaining front in

India in the post-liberalisation period

include

a.  collective to
contracts.

b.  increased wages/incomes and
benefits  accompanied by
erosion of job control.

individual

c.  concession bargaining.

d.  Attendance, skill or
performance-linked rather than
age-weighted and seniority-
based wages and benefits.

(A) onlya

(B) aandb

(C) abandc

(D) a,b,candd

The Second National Commission on

Labour recommended that a

registered union should be given

recognition as a single negotiating

agent in an establishment through

check-off system, if it is having a

minimum of :

(A) 33 percent of workers as
members

(B) 60 percent of workers as
members

(C) 66 percent of workers as
members

(D) 75 percent of workers as
workers

The British Trades Union Congress
was established in the year :

(A) 1862 (B) 1868

(C) 1892 (D) 1900

Paper-111

35.

36.

37.

38.

The National Apex Body was

established in 1975 comprising of

(A) Representatives of employers
belonging only to AIOE, and
trade unions belonging only to
INTUC

(B) Representatives of employers
belonging to AIOE, EFI and
AIMO and trade unions
belonging to INTUC and HMS

(C) Representatives of employers
belonging to AIOE and AIMO
and trade unions belonging to
INTUC and AITUC

(D) Representatives of employers
belonging to AIOE, EFI and
AIMO and trade unions
belonging to INTUC and
AITUC

Which of the following is false :

(A) A Multinational Corporation
(MNC) is registered in more
than one country or has
operations in more than one
country.

(B) A Multinational Corporation
produces and sells goods or
services in various countries.

(C) A Multinational Corporation
can also be referred to as an
international corporation.

(D) None of the above.

Fish bone diagram is also known as
(A) Kaizen Diagram

(B) Ishikawa Diagram

(C) Taguchi Diagram

(D) Pareto Diagram

Which of the following features
characterize the Balance Score Card
Method ?

a.  The score cards are cascading
in nature and as such are all
pervasive in an organization

b. It is supported by effective
communication system

c.  Standardization of goals is not
rigid

d.  Customer focus is an integral
part of Balanced Score cards

(A) abandc (B) b,candd
(C) ab,andd (D) a,candd
D-55-13
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(C) 1892 (D) 1900

D-55-13

35.

36.

37.

38.

UL oMY ™ @l T 1975 § g8

3R ToH T &

(A) I AIOE & STl & Afamg
3R FaA INTUC ¥ T 25
PERE]

(B) AIOE, EFI 3R AIMO % Taistent
% gfamta 3T INTUC 3T HMS
T grafud ¢ g |

(C) AIOE 3R AIMO ¥ Ui
TRt & ufamMg 3R INTUC
3T AITUC ¥ grafd o8 Ja-

(D) AIOE, EFI 3R AIMO 3R
INTUC 3R AITUC ¥ T=fud
T IHTA |

FrteAfEa O 9 TeAd b= |1 & 2

(A) TH TEIALE T\ (MNC) &t
USTIoh0T Ueh O 31faeh S9m | erdr &
I THH RAG TH W S
90 oA & |

(B) TH WEUEE W #F 0 OH
T3 /AAST BT SeATe T fesht
HAE |

(C) T FgUgg i &l S
e o1 A\ off e ST ESAT €

(D) SWIaT H F g Tal

fReTa {@ites (SEUM) & a8 o e
ST &

(A) e @i

(B) sfrepman W@tas

(C) e Tart

(D) Wer T

gqferd udish dre fafr w o da |

AT 8707 Tehe it & 2

a. Uik ®Ie UHd H 95 Shl o9
B € AR T YN § e TH
e ¥ quiqar = g € |

b. I8 WWE HUR ¥ TS BT § |

C. &l I AhIHT HgT Fel el |

d. Hdfera Ui HE H AEh-higd

BT ST S S E |
(A) a, b3 (B) b,c3Rd
(C) a b, 3d (D) a, ¢ 3RXd
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39.

40.

41.

Affective competence, Intellectual
competence and  Action-oriented
competence as components of key

competencies of managers was

proposed by

(A) Rabi Kanungo and Sashi B.
Mishra

(B) Robert Katz
(C) Henry Mintzberg
(D) Thomas Durand

Which of the following statements
about performance management are
true ?

a. It is a moving up process and
there will be upheavals and
odds

b. To integrate strategy and

operation of  performance
management it would require
planning, information and
guality management system

c. The entire performance
management system is based
on reporting and measurement

d.  Score carding is not central to
the performance management

system
(A) aandb (B) bandc
(C) abandc (D) b,candd

Match the explanation relating to the
sources of power mentioned below :

a. Reward i. the power
Power legitimately does
not belong to the
person but gained
by access to
powerful sources
b. Legitimate ii. influencing by
Power specialised skill

gained by the

person
c. Referrent iii.the authority to
Power impose
punishment
d. Expert iv. the power enjoyed
Power due to hierarchical
position
Codes :
a b c d
(A) il i [ 1\
B) i i i v
(C) v i i i
(D) i v [ ii

Paper-111
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42.

43.

44,

45.

What composes the ‘SMART’

goals ?

(A) Simple, Monetary, Achieved,
Reliable, Total

(B) Specific, Measurable,
Attainable, Realistic, Time
Bound

(C) Strategic, Measurable,
Analytical, Reportable,
Technical

(D) Strategic, Market oriented,
Analytical, Reportable,
Technical

Which of the following is correct
about sustainable development ?

(A) It aims at  continuous
development

(B) It deals with regular growth of
social interest

(C) It meets the needs of present

without hurting future
generations
(D) It develops employees for

growth of business

Based on his 14 principles, Edward

Deming is a strong proponent of

(A) increase in quotas to enhance
productivity.

(B) inspection at the
production process.

(C) training and development of
employees.

(D) creating quality slogans to
motivate workforce.

end of

Action learning is a

technique in which

(A) trainee is allowed to work full
time analyzing and solving
problems in other departments.

(B) trainee moves from department

training

to department to broaden
experience.

(C) trainee is presented with
written description of
organizational problem.

(D) trainee is sent for formal
training outside the
organisation.

D-55-13



39.

40.

41.

TEt 9w, difge wmeE 3R
Torarelt W=l veres & ol areAt &
w9 H foheh §RT QeI T & 2

(A) IS AT AT w07 &, o

(B) EE FHIS

(C) &t fhestan

(D) =mE gie

ueT vem & Wy § g

FHoH H G B R T2

a.  IE 9aq VAT § 3 T9H IAR-
<IgTe AT HicAAT S |

b. oIS ye i AT 3R THIT
% THHOT & T FASHL, o
A FEAS TSUE UOTAl i
SATTTT T BITT |

c. YUl ToIe wery wometr femfe
3R AT T U € |

d. U we oy FHura ge
AT o o | T8l ¢ |

(A) a3b (B) b3Rc

(C) a b3 (D) b, c3Rd

W & Fal el FEarad
RT3l GAlAT HIFT -

a. TIAIes i, Wi 99 &9 9
iGN ST i T&l &I,
IfeRAqUT AT T
e & g
ey 39 I8 U
BT |

ii. fordt =afem T
fafere FHereran
T o §RT Tl
ST |

iii. ST A H
AR

iv. QOTeh e &
HROT YIferT i
T

b. ag Tt

c. Teiira
d. Fo=

a b c d
(A) i i i iv
B) i i i v
(C) v i i i
(D) iii v i i

D-55-13
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42.

43.

44,

45.

‘SMART’ & &3 Tohl Heehl | o & ?

(A) T, Hifse, 31iTd, faveaa

(B) fafere,  wmHlm, wiwEna,
AIKTleeh, AT

(C) ToFifayul, ==, faveioomers,
Yiqag=a, dehriten!

(D) IoTHIfeYoT, FASTRISET,

o o (2 o0
[ARTAV[[Hen, Al den-lenl

YRl fohrg & gy ° Hefatad 5

D T2

(A) TTH AT R foma ¢ |

(B) ¥ WIS fed =i fafhd gfg &
T € |

(C) =& At difgdr = & wgar
o1 ame Wt sTeavEde wt
I AT & |

(D) =™ @ gy & fow T®

FHHTAT T [ShT T B & |

TeaS S, 14 gl % 3UR W, U

TG TR &

(A) STEHA H TgH & T FIE |
L

(B) STUIRH WA & 3 H Fteqor

(C) SHHEIRAT T T¥TRI0T Y foehra

(D) HETA I AT A F fow
TOTERTYUT ART T G

fspanfoee atferma wes wftreror &, e
(A) et wivrenet = e fowm =
TS T orer R fovertr
T % ToTT quT THT 1 HEH I
TR 3F S |

Tfetetelt U & T fawmT § et
3T I SATIH S & feTT ST
T

(C) TIfSTeTell ol HITATCHS THET
fefaa oo fear sTar € |
TieTeTell i iUy WeTRTOT %
T e § FEl AT AT S
g

(B)

(D)
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46.

47.

48.

49.

50.

51.

Glass ceiling refers to

(A) Moderate difficulties in training
of women workforce

(B) Artificial barriers based on
attitudinal and organizational
bias preventing career growth of

women

(C) Personality weaknesses
hindering career growth of
women

(D) Transperency at higher levels in
organisation

A person who is citizen of the country
where MNC is headquartered, but
working in another country with the
same company is called

(A) Host Country Nationals

(B) Trans Country Nationals

(C) Third Country Nationals

(D) Parent Country Nationals

Which of the following is not a reason
for increasing workforce diversity ?
(A) Changing demographies

(B) Product Quality Consciousness
(C) Political and Legal Systems

(D) Globalisation of Business

Career in Human Resource

Management means

(A) A status job

(B) A respectable consistent
occupation

(C) A job where a person can earn
livelihood

(D) The progression of a person in
his occupation over the years

Which of the following is not an action
of classical change programme ?

(A) Refreezing (B) Removing
(C) Moving (D) Unfreezing

Which one of the following is an

example of Golden-Handshake

Scheme ?

(A) Superannuation Retirement

(B) Voluntary Retirement

(C) Compulsory Retirement

(D) Retirement on account of
disablement

Paper-111

52.

53.

54.

55.

Which of

technique(s) of

Management ?

a.  Six Sigma

b. Kaizen

c.  Just-in-time Management

d.  Business Process
Reengineering

(A) onlya

(B) aandb

(C) a/bandc

(D) a,b,candd

is/are
Quality

the following
Total

Which one of the following contains

the phases of organizational

development arranged in sequential
order ?

(A) Entry into the organization,
diagnosis, culture building and
interventions

(B) Entry into the organization,
diagnosis, interventions and
culture building

(C) Entry into the organization,
culture building, diagnosis and
interventions

(D) Entry into the organization,
interventions, diagnosis and
culture building

‘OCTAPACE’ - the concept for
study of organisational climate was
developed by

(A) Peter F. Drucker

(B) Peter Segne

(C) Udai Pareek

(D) DharniP. Sinha

Which of the following is/are the root

cause(s) of downsizing ?

a.  mechanisation and moderni-
sation

b. cost cutting methods and
effective communication

c.  technological advancement and
improvement in organisational
performance

d.  impact of globalisation

(A) onlya

(B) aandb

(C) abandc

(D) a,b,candd

D-55-13



46.

47.

48.

49.

50.

51.

T Wil ¥ M ©
(A) B HETA % UREer 9§ gad
bt

(B) &l & SN Fhg & THT &
o0 gitewhioeHs T HieATcHe
eI ST i Srend

(C) =foawa & Feean st faar &
PRI ghg T STeh Bt & |

(D) T H ITAR TRI W IR

MNC &I & 59 397 | €, 39 390
% AN I I HEA H oo 9 °
FHE HH W AAAET § 9 597 FeTl 2
(A) TSTEH I &% ARG

(B) UR-I¥ % ANINE

(C) T I3 % AR

(D) T =¥ & ANE

FAA H fafoudar A4 gy WA w
fefafaa § 9 i |1 SRoT 96l § 2
(A) SO | & &l aiea

(B) SIS FalIferel eel

(C) ToHifaes e aftres gomtera

(D) AR T STATHIT

ATe T Tawe | HRaT 1 37 § 9

(A) TE ufdfed sia

(B) U FHFHIT FR<R =aam™

(C) u® Sig SEH U =l 31T
SHifereht AT T TehelT & |

(D) UF A FRT 9 FIIT H F
ot | 1 TE AR

frfafad # @ &9 @1 Ireg aRkeEdd

TR I foHT &l & 2

(A) ﬁqﬁﬁm (B) ﬁ‘i%"?

(C) oo (D) ISR

frfefad @ @ &9 @1 ‘Mo E=9%
THA’ HT SR & 2

(A) afie Fer e

(B) Wi Har g

(C) afieml T fgh

(D) 3TN % HROT Hall g

D-55-13

52.

53.

54,

55.

AT Foel U § Fefatad 5 9
I It T / dhTeh & /& 2

a. o g (six sigma)

b. =M

C. STEE-g-2I8H Ud~-

MaNal o

d. rq“jﬂH IIESES {r\lsl [ ¢|I<"|
(A) HaeT a

(B) as3ib

(C) a b3

(D) a, b, c3Td

fffad v @ 9 o9 w9

TeAcAs  foh@ &t Uereet &

HaTes A | e foar & 9

(A) T H A, e, G&hd g
3 Eeeiy

(B) TeA H v, MR, g%e i
T o

(C) WTe ¥ yavl, W& gorH, MM
AR FETET

(D) WTeT H vowT, geed, HMRE iR
T o

‘OCTAPACE’ - U& 3fuRom it

HITSTHE SRy & fedd & folw

forehfera =t € — T

(A) X TF TH ERT

(B) X I FRT

(C) 3TF U 5T

(D) &Rt O, fawer g0

fratafed & & HHEl & gem FE
A HROT FT &/ 2

a.  WRIHIROT 3

b. oA =M w fafadt R wrer

ESCIES

c. U SHM R HeAHS
eI & gum

d. AR T U

(A) Hac a

(B) a3Rb

(C) a b3

(D) a,b, ¢ AT d
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Which of the following authorities has
the power to prescribe the form of
certificate of fitness to work in a
factory under the Factories Act ?

56. Arrange in a sequence the following 59.
Acts in the order of years in which they
were enacted from latest to earliest

a.  The Mines Act o
b.  The Plantation Labour Act (A)  The certifying surgeon
c.  The Factories Act (B) ;I;fgoﬁwner or occupier of the
d. The Beedi and Cigar Workers y .
iti (C) The Chief Inspector of
(A) gcg ”S' 'to'f’”s of Employment) Act Factories of the State
(B) b acd (D) The State Government
C) d,b,a, : .
ED)) d, a, Sg 60. Which of the following statements

57.  Which of the following statements is

not true, when

it is the issue of

referring a dispute to a labour court

about the Unorganised Sector Social

Security Act, 2008 is not true ?

(A) The Act gives a definition of
‘home-based worker’, and it is
same as self-employed worker.

under the Industrial Disputes Act ? (B) It prescribes for making
(A) If the matter is related to matters suitable welfare schemes for
specified in the second schedule, unorganized workers relating to
refer it to the labour court. and maternity benefits, and old
. age protection by the Central
(B) If the matter is related to the Government.
matters specified in the third (C) The Act gives separate
schedule, ~ the  appropriate definitions of  ‘unorganized
government may refer it to the worker’ and “‘wage worker’.
labour court, provided the issue (D) It prescribes for making suitable
does not affect more than one welfare schemes for
hundred workmen. unorganized workers relating to
(C) If the dispute in relation to which provident fund, employee injury
the central government is the benefit, housing, educational
appropriate government, it can schemes for children, skill
refer it to the labour court upgradation of workers only by
constituted by the  state the State Government.
government. 61. Which State in India was the first to
(D) If the matter is related to issue of enact a legislation governing migrant

national importance, the same
can be referred to the labour
court by the appropriate
government.

58. What is/fare common to the Factories
Act, the Mines Act, and the Plantation

workers, which was later repealed by
the central Inter-State Migrant
Workmen Act in 1979 ?

(A) Maharashtra

(B) Odisha

(C) Himachal Pradesh

(D) Uttar Pradesh

Labour Act ? 62. Which part of the definition of
a.  They are protective legislations ‘worker’ under the Factories Act is
b. They are social security incomplete ? _
St (A) A person employed directly or

llt_arglglslatlons Ifare legislati by or through any agency.
€. €y are wellare legisiations (B) With or without the knowledge
d.  They are wage legislations of the principal employer.
(A) onlya (B) onlyc (C) For remuneration
(C) aandc (D) b,candd (D) Inthe manufacturing process

Paper-111
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56. fafEd SAaEml H 3% WiRd e

S7.

58.

% a4 H &\H H W@ W I%

FHIAHHATIER ShHaF Y :

a. @M AtutEm

b. ST oW stufTEn

C. HREMI Iy

d. SIS meg (@R # )
aafatTams

(A) ab,cd

(B) b,acd

(C) d,b,ac

(D) d,a b, c

e & & i a1 %o T T

Sfafer strentTe foarg sAfufag & sri=

et faame & o9 SRIea | WS @

AT & 2

(A) g Amen G erger § fHikse
Ol ¥ getud 8, S
WHX TW 99 e H WS
el & |

(B) s mmen g gt ° fHikwe
el ¥ gEiud ¥ oar gt
TER T H9 T § 9T Fehell
T W I € T v Ao ush @
M AN I T T Sl
g

(C) 3fx g8 amen var ¥ TS s
THR Yo THR & T T
THR FRT e 1 T_Ted | T8
TTHET 9T Fhell € |

(D) 3T T et AL Hewd i €, of
70 FYfad TR §RT 5 3TETerd
I IS T GehelT € |

FREMT Auaw, @F AT 3T
AT H tafTEE | R HE 2 2

a. o GAUTCHe faurE €

b. o THISTH T fOHE & |

c. o oA fouE € |

d. o ARy foua € |

(A) Ha a (B) Faet ¢
(C) as3Rec (D) b, c3Rd

D-55-13
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59.

60.

61.

62.

FREFT MFIH & 3T FF=Tarad o
q PREH T HH A H @@l & fow
TS % HE I UG A
PR o AIepry 1 € 2

(A) VHEE TS

(B) HREM HT HiicTdh 3TaT SISt
(C) T~F 1 HREMT T=F FieTeh
(D) T WHR

fefafgd FoF § ¥ or@med &F

TS afatam, 2008 & Y

s R

(A) T& Aff=m ‘FHSE aHT @
ORTOT AT & ST At § S Woh-
TATS-THT & |

(B) o fuifa =hear & fo erdmfed &
& HEAT & Sie, AT e,
Wﬁ?wﬁwﬁwwﬁmﬁ

H FET T BeE WHR I
FHEATT ThAT St T |

(C) =& aufTem ‘am'ﬂ%ﬁ FAT T
O9gd-AT” W - i
AT |

(D) T® Truifd a=ar & & ot T
WHR fed & & HHAl &
o wfesr My, FHeR =@ o,
W,W%%@W@ﬁﬁ
g B PN gy H o
FHTOT HFT B AT |

IR &1 98 i 9 JaH 79 & 5o
YAl gl Bl GEad @A o [T
atafrae s=rar 59 1979 | =g
YT ke Attae e fohar e 2
(A) TR (B) 3R

(C) FHE@ W™ (D) IR IS

frefefed & ¥ wrR@Em sfufem &

3TER ‘g’ i RIS T HIF AT 9T

30T & 9

(A) UH RS ST A Sr¥er fdr
@ﬁmﬁmwﬁl

(B) =@ FEiSTH wH STHeRI 3Tan
STFERT % ToT o7t fopam & |

(C) st % fow

(D) T wiskan o forg

Paper-111



63.

64.

65.

Assertion  (A) Provisions  of
Employees’ compensation Act
and Maternity Benefit Act do not
apply to all industries.

Reason (R) : Employees’ Compensation
Act is a comprehensive social
security legislation.

(A) (A) iswrong, but (R) is right.

(B) (A) is right, but (R) does not
related to the (A).

(C) (A) and (R) are right, and (R)
validates the (A).

(D) (A) and (R) are wrong.

Which of the following statements

about The Employees’ Provident

Funds and (Miscellaneous Provisions)

Act are true ?

a. The Act is not applicable to co-
operative societies employing
less than 50 persons working
with the aid of power.

b. It makes provision for pension
scheme, including family
pension.

c. There is no wage limit to be
covered under the Act.

d.  The Act has a provision relating
to Employees’ Deposit-linked
Insurance Scheme.

(A) a,bandd (B) aandc

(C) b,candd (D) a,candd

Which of the following statements
about the Grievance Redressal
Machinery given under the Industrial
Disputes (Amendment) Act, 2010 is
not true ?

(A) Every industrial establishment
employing 20 or more workmen
shall have one or more Grievance
Redressal Committee.

Grievance Redressal Committee
can resolve any dispute arising in
the industrial establishment.

It is a bipartite committee with
equal number of members
representing the employer and
workmen.

There is a 45 days time limit
from the date of written
application to complete the
proceedings.

(B)

(©)

(D)

Paper-111
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66.

67.

d. Inspection of

Identify the false statement on ILO.

(A) ILO s a tripartite body.

(B) India was not a founding
member of the ILO as it did not
get its Independence.

(C) ILO has three organs, namely,
the International Conference,
the governing body, and the
International Labour Office.

(D) ILO passes conventions and

recommendations prescribing
International Labour Standards.

Match the following Conventions of
the ILO according to their
incorporation in  the concerned
laws/source of laws in India.

Conventions Laws/Source of

Laws
a. Holidays i. Indian
with pay Constitution
convention
(No. 52)
b. Tripartite ii. Factories Act

Constitution
(International

Standards)
Convention
(No. 144)

c. Forced iii. International
Labour Migrant
Convention Workmen
(No. 29) (Regulation of

Employment &
conditions of
service) Act

iv. Minimum Wages

Emigrant Act
convention
(No. 21)

a b c d
(A) i v i iii
(B) ii i iv il
(C) i i iv i
(D) i v i i

D-55-13



63. AfWHAT (A) : FHARI UiqHT i
qq yEfd Ugiaer eiutEd W%
gﬂm TSI W A

|
% (R) : SR Uit fafom T
I TS LT 3 = € |
(A) (A) Tod &, R (R) Wel ¢ |
(B) (A) Wl & W= (R) &1 (A) ¥
T TR T |
(C) (A) 3R (R) SHI Tel € 3T (A)
1 (R) 9 T ¢ |
(D) (A) 3R (R) 31 TToid & |
64. TTfAtEd U § | S G/ HEH
FEART g fAfy TTETE)
v Tl e &8 2
a. IE IMufEw UHl WesRl Wit
W AR FEl Far A e |
HE HH I AT B Tt 50
dFHTE |
b. =W UM W, W URar &
?@ﬁm?‘lﬁq&q%ﬁ%,ww
|
c. TE IMUMEH & ol e BF %
foTT g ToigRt | =71 & |
d. =9 IuFEwE § HEARI H ST
g S IS W@HE H o
e & |
(A) a b3Rd (B) as3iRc
(C) b, c3Rd (D) a, ¢ 3RXd
65. frafatad o=t § § HF f=E
faans (Genfua) sfufEm, 2010 & 3=
e frepEa e Tei T @@
T e
(A) w&F TR waer SEH 20
T TN AT A HH HA
g, Y UH el U% 9 A
fereRTad femor ssucy/eRRteat g |
(B) 3fEifites ufdeM H S &t i
ot forag =t ¥repra e 8
& T el § |
(C) % us fgueia 02t et & o
T 31 el & sRIER s/E
TEHE
(D) T 3T feaiad 3T U T
% UTI 39 T HIETR! B
A B EI-IET 45 T F
D-55-13
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66.

67.

TS T 37 (ILO) TFra=lt Tt 2 &t
WW:

(A) 3T Tet 31 Broeia f € |
(B) YR TEh TAMH TS &l AT
FiTeh TR e S Tel o7 |
(C) o U o & o= 3 & T

I 5 HEATAT
(D) 3E UeA 37 SR I HFh i

TR X o ToTT e &l iRa

HAT & 3R FqwRe FRar g |
Rar fafe/fafe aia & sire =t gafera
FHITT -

HATH fafu/fafa e
a. daq afed i, YR Gfae=
EECoNE]

(T=T 52)

b. Froeta faum i, HR@FT ttutTa

(IR
) HovH
(T 144)

C. R 5| iii. SRS Tardt

N e (TSR
(TEAT 29) fatTeme wa gar

&t 71t At
d. SoEmt V. =TT TG
fteror Sheer ety

(T 21)

a b c d
(A) it iv i i
B) i i iv il
C) i i iv i
(D) il v i I
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68. The Trade Unions Act empowers a
trade union to create a General Fund
for its administration and maintenance.
A trade union purchased shares in the
Unit Trust of India to enhance its
General Fund Account. Which of the
E%Iowmg IS not correct as per law ?

(B)

(©)
(D)

The trade union can raise its fund
b)é such type of investments.
The trade union can raise its
funds by such investments with
the permission of appropriate
government. o

The trade union can raise its fund
by such investments with the
consent of its general body.

The trade union cannot do so as
it is an attempt towards profit-
making.

69. While working at the construction of a
multistoreyed building of a company, a
worker employed by a ‘contractor’,
supplied by a ‘sirdar’, faced an accident
and became temporarily disabled. For
paying compensation to the worker, who
shall be held responsible as per law ?

(A)
(B)

(C)
(D)

70. The

The contractor who employed
the worker

The sirdar who supplied the
worker

Both (A) and (B)

None of the above

basic principle underlying the

enactment of the Trade Unions Act is :

(A)

(B)

(©)
(D)

To protect interests of workers
against disregard of human
elements in industries.

To regulate the relationship of
workers and their organization by
regulating the balance of power.
To provide strength to workers to
settle the industrial disputes.

To provide security to workers
against the occupational hazards.

71.  Which of the following contribute(s) as
a principle of labour legislation ?

a.
b.
C.

d.

(A)

(©)
Paper-111

Principle of International

Obligation

Principle of Economic
Development

Principle of Protection and
Regulation

Principle of Social Justice
candd (B) b,candd

a,b,candd (D) a,b,andd

72.

73.

74.

75.
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For which of the following, the State
Legislature has exclusive power to
make laws ?

(A) Shops and Commercial
Establishments

(B) Vocational and  Technical
Training of Workers

(C) Participation in International
Associations

(D) Social Security and Social
Assistance

Which of the following is not the

objective of the Child Labour

(Prohibition and Regulation) Bill

proposed by the second National

Commission on Labour ?

(A) To ensure that no child would
be deprived of a future being
deprived of education.

(B) to ensure children not to work
in situations where they are
exploited.

(C) to prohibit child labour in all
employments irrespective of
their coverage under the
existing Act.

(D) To tackle the problem of child
labour by ensuring universal
education.

Which of the following is/are

factor(s) for enactment of a

legislation regulating payment of

remuneration due to workers ?

a.  Paymentin kind

b.  Paymentinillegal tender

C. Irregular payments

d.  Authorised deductions

(A) abandc (B) a,bandd
(C) ab,candd (D) b,candd

What is the qualifying service to
claim gratuity ?

(A) 15years

(B) 10 years

(C) 5years

(D) No such prescription
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68.

69.

70.

71.

(D) T HY UH qE H HehRd Hih
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T HHHT Pl TE-HTeT ART S gU T
T, 9 IHER N1 SR O 3@ 713

e o,

3T BT STl & | U ks i, fafy 3TN,

IS (UTdHY) i SRR & fow v
TET ST 2

(A) WW@@WW?@TWI

(B) WER oA 3 Wwle foham o |

(©) ('°~)3ﬂ'<'(|3)3ﬁ=ﬁ

(D) q IE &l

Wwaﬁlﬁmﬁwwaﬂaﬂﬁ%d

o (g &

(A) S ¥ AHEET dwl & ST %
Ta%s TRl o Tedl oh1 TTRT0T

(B) T &% Ao i fatafid # &
faT ol IR ST e & g
el i A #A & e |

(C) ST foamst @ Huer &q aohi
1 geg T H & T |

(D) =EEIEs SEH & fog TRl i
TR U8 A &+ [T |

fefafed 8 9 == a1 99 fauaa fasma
ﬁzﬁﬂmﬂm%?

IS ST g
wféaw%@‘rqfam

H(&Wl Q_OT |°||"|¢|‘-| IHO&I*ﬁ

HIHII°1°b 2B N‘lo&l'ﬂ

(A) ¢ 3T d (B) b,c3Rd
(C) a, b c3Td (D) a. b, FRd

oo o

72.

73.

74.

75.
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ffafed 5 9 g 9= | shadl 9
Toem T S S S T STER & 2

(A) THME SR AR A==

(B) TRl H AEHINTEH TS Teheeni
BN

(C) SFIIST ot § FevTiTar

(D) WIS G TS WIS el

fodia AL ST AT FRT WA et

g (Mo wd fataue) fodges @

frferfiad & 9 @i o1 o8 T2 & 2
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Tk i 18T § Sfad W@ 39
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IsECH

(D) Tt & foru f¥reT Suetey s it
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T FEE
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o % fow &FF s H eq
frfefad & 9 =i a1/ § $RE 8 2
a.  USE % w9 H A

b. &Y gX H SRR

c. AMatHa IwmE

d.  sifugd wifaar

(A) a, b3 (B) a, b3iRd
(C) ab,c3iTd (D) b,c3Rd

U & T & T 3R Wl ©
(A) 1599

(B) 10 a9

(C) s5ad
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